1. Economics IV
2. Monopoly and Monopsony in Factor Markets
3. Section 1:  True or False.  Explain why the following statements are true or false.

4. Consider a monopolist producing several products that are substitutes.  The monopolist’s “mark-up” (that is, [P-MC]/P) for each good will depend only on the demand elasticity of that good with respect to that good’s price.

1. A monopolist who is able to use price discrimination is always better off than a monopolist who cannot discriminate.

5. A monopsonist will hire labor until the marginal revenue product of labor is equal to the wage rate.

6. Suppose a monopolist hires the same amount of labor and produces the same amount of the good as a perfectly competitive firm.  The monopolist’s marginal revenue product of labor would be lower than that of the perfectly competitive firm.

2. A monopsonist will generate dead weight loss for society (cost de bienestar social) unless he can perfectly discriminate between workers by paying each unit of labor the minimum wage for which that unit of labor will be offered.

3. The enforcement of a minimum wage will always lower employment in the case of monopsony.

Section 2:  Solve the following

a. Consider a monopolist with no fixed cost of production and AC=MC=5.  Demand in this market is given by Q=50-2P.

b. Find the profit-maximizing levels of production and price for this monopolist.  Also calculate the monopolist’s profits, consumer surplus, and the dead weight loss to society from monopoly.

c. Suppose now that the monopolist identifies two groups of clients – the old and the young.  Old demand is Qo=20-P and young demand is Qy=30-P.  If the monopolist can offer discounts to senior citizens, will he choose to do so?  Calculate his price for young and old consumers, the quantities purchased by each group, the monopolist’s profit, and the dead weight loss associated with each group.

d. Suppose a social planner in this market maximizes (net consumer surplus + monopoly profits).  Will this planner permit the price discrimination described in part b?

Graphically explain the profit maximizing hiring choice of a monopsonist.  Show carefully the difference between the total social surplus (well-being) from the labor market, in the case of perfect competition and monopsony.

7. The Ajax Coal Company (ACC) is the only hirer (buyer) of labor in its area.  It can hire any number of female workers or male workers it wishes (with no regard to any wage or employment discrimination laws).  The supply curve for women is given by 
[image: image1.wmf]f

f

w

L

100

=

, and for men it is given by 
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 are the hourly wage rates paid to female and male workers respectively.  Assume that ACC sells its coal in a perfectly competitive market at $5 per ton and that each worker hired (regardless of gender) can produce (mine) 2 tons per hour.  If the firm wishes to maximize profits, how many female and male workers should it hire, and what will be the wage rates for the two groups?  How much will ACC earn in profits per hour (above the opportunity cost) from its mine machinery?  How would your answers to the above change if ACC were a perfectly competitive firm in the coal industry, which had to pay all workers based on the value of their marginal product?  What would the wage rate for workers be and how many men and women would choose to be employed?
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